

# Pounds of Pumpkins

This pumpkin patch has more than 100 pounds of pumpkins in it. Place + and - signs between the pumpkins in each row so that each equation works.

8	4	2	3	3	1	=	7
6	2	5	1	7	5	=	12
5	1	1	6	7	4	=	14
5	4	2	6	8	3	=	4
7	2	6	4	4	5	=	16
1	5	8	6	6	2	=	12
2	3	5	1	2	9	=	20
3	4	1	5	5	2	=	8
9	7	2	8	3	4	=	13
4	3	3	6	5	1	=	10

# Puzzle Answers

## Pounds of Pumpkins

Some possible answers are listed below. If you have a different solution, but it equals the amount shown, you've got a right answer!

$$\begin{aligned} & 8 - 4 + 2 - 3 + 3 + 1 = 7 \\ & 6 + 2 + 5 + 1 - 7 + 5 = 12 \\ & 5 + 1 - 1 + 6 + 7 - 4 = 14 \\ & 5 - 4 + 2 + 6 - 8 + 3 = 4 \\ & 7 - 2 + 6 + 4 - 4 + 5 = 16 \\ & 1 + 5 + 8 - 6 + 6 - 2 = 12 \\ & 2 + 3 + 5 - 1 + 2 + 9 = 20 \\ & 3 + 4 - 1 - 5 + 5 + 2 = 8 \\ & 9 - 7 + 2 + 8 - 3 + 4 = 13 \\ & 4 + 3 + 3 - 6 + 5 + 1 = 10 \end{aligned}$$